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Question: 1 
   

 

Answer: D 
Explanation: 

 

Question: 2 

 

Answer: C 
Explanation: 
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A. 12 units 
B. 16 units 
C. 18 units 
D. 24 units 
 

Answer: D     
 
Explanation: 

 

Question: 4 
   

 

Answer: B 
Explanation: 
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Answer: A 
Explanation: 

 

Question: 6 

 

Answer: D 
Explanation: 
Since Harlan knows the cost of each bag of carrots, and also how many total carrots he needs, he also 
needs to know the number of carrots in each bag to find the number of bags he needs to buy. Then, he 
can multiply the number of bags by the price to find the amount of money the carrots for his stew will 
cost. 

Question: 7 
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Answer: A 
Explanation: 
To solve, test each answer. Notice that in (A), the numerator has been multiplied by 3 to get 12. The 
denominator has been multiplied by 3 to get 21. In (B) the numerator has been multiplied by 4 and the 
denominator has been multiplied by 5. In (C), the numerator has been multiplied by 3 and the 
denominator has been multiplied by 4. In (D), the numerator has been multiplied by 4 and the 
denominator has been multiplied by a number less than 4. 

Question: 8 

 

Answer: C 
Explanation: 
Aaron ran four miles from home and then back again, so he ran a total of eight miles. 
Therefore, statement III is false. Statements I and II, however, are both true. Since Aaron ran eight miles 
in eighty minutes, he ran an average of one mile every ten minutes, or six miles per hour; he ran two 
miles from point A to B in 20 minutes and four miles from D to E in 40 minutes, so his running speed 
between both sets of points was the same. 
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Question: 9 

 

Answer: B 
Explanation: 

 

Question: 10 

 

Answer: A 
Explanation: 
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